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QUESTION 1

What is the total maximum bandwidth for a 16-port switching module to the crossbar on a MDS 9509 with dual
Supervisor Modules? 

A. 160 Gb/s full 

B. 20 Gb/s full 

C. 40 Gb/s full 

D. 80 Gb/s full 

Correct Answer: D 

 

QUESTION 2

In an iSCSI client-server architecture, what are devices that provide a request service to storage components (logical
units) known as? 

A. Client 

B. Device server 

C. Initiator 

D. Target 

Correct Answer: D 

 

QUESTION 3

Which layer in the iSCSI protocol stack controls messages, SCSI commands, and parameters between the initiator and
target? 

A. IP 

B. iSCSI 

C. SCSI 

D. TCP 

Correct Answer: D 

 

QUESTION 4

Click the Exhibit button. What is indicated by the No in the Logged in column of the displayed symmask command?
Practice exams also include self assessment and reporting features!**Exhibit Missing** 



A. The FA does not have the VCM bit set. 

B. The FA is not logged in to a fabri 

C. The port is not logged in to the FA. 

D. The port is not masked to any devices. 

Correct Answer: C 

 

QUESTION 5

How can you find an HBA\\'s WWN on a Sun host? 

A. cat /var/adm/messages 

B. fcmsutil /dev/td0 

C. sam 

D. smit fe 

Correct Answer: A 

 

QUESTION 6

Which SAN-based device provides critical server CPU offload and frees servers to perform application processing? 

A. FC-SW 

B. Host bus adapter 

C. Multimode fibre cable 

D. SFP 

Correct Answer: B 

 

QUESTION 7

What are the three tiers of Control Center architecture? 

A. Console tier, Infrastructure tier, Agent tier 

B. Console tier, Server tier, Infrastructure tier 

C. Server tier, Infrastructure tier, reporting tier 

D. User tier, Infrastructure tier, Agent tier 

Correct Answer: D 



 

QUESTION 8

What are the device special files naming convention in an AIX environment? 

A. //./PHYSICIALDRIVE# 

B. Block Device is /dev/dsk/c#t#d# and Character Device is /dev/rdsk/c#t#d# 

C. Block Device is /dev/dsk/c#t#d#s2 and Character Device is /dev/rdsk/c#t#d#s2 

D. Block Device is /dev/hdisk# and Character Device is /dev/rhdisk# 

Correct Answer: D 

 

QUESTION 9

When installing EMC PowerPath on a Solaris host, which command will initiate the install? 

A. install 

B. pkgadd 

C. ppinstall 

D. rpm 

Correct Answer: B 

 

QUESTION 10

On EMC Control Center, what are the two methods used to discover B-Series switches and directors? 

A. Brocades Connectivity Access Layer and SMI Provider 

B. Brocades Fabric Access Layer and SMI Provider 

C. Brocades Fabric Access Layer and SNMP Provider 

D. DSM Connect and SMI Provider 

Correct Answer: B 

 

QUESTION 11

Which ports are used for interswitch links (ISL)? 

A. E_Ports 

B. F_Ports 



C. FL_Ports 

D. N_Ports 

Correct Answer: A 

 

QUESTION 12

What is the port configuration when implementing multiprotocol routing for B-Series FCIP? 

A. E_Port 

B. F_Port 

C. FL_Port 

D. VE_Port 

Correct Answer: D 
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